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11.

CE 6402 — STRE

PART A — (10 = 2 = 20 marks)
Define Resiliénce, Proof Resilience and Modulus of Resilience.
State the various methods for computing the joint deflection of a perfect frame.

WHa't are the fixed end moments fixed beam of length ‘I subjected to a
rom left end?

s of the theorem of three moments?
aler's column theory.

What are the advantages and Ii
State the assumptions made in the
What is a thick cylindex?
Define spherical tensor.

Explain shear strain Energy theory.

Define Unsymmetrical bending.
bending.

Write the shear centre equation for

=65marks) -

- the two reasons for unsymmetrical

anel section. 3

I

(a) A cantilever of rectangular sec
carries uniformly distribute:
of the cantilever. Using Cas
due to bending at the free e

n breadth b, depth d and of length 1
spread from free end to the mid section
o's theorem. Find Slope and deflection

(13)

(b) An axial pull of 40 kN is s
1000 mm? in cross section. €z
absorbed if E = 200 GN/m2.

Ly apphed to a steel rod 2 m long and

(13)
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15.

16.

(@)

(b)

(a)

®)

" obtained were :

(1) Maximum shearing‘streﬁiz 5
(i) Maximum total strain e

(i) Maximum shear strain e
E =200 GN/m? and 1/m

Take Pozsson Ratio = 0.26. Take
(13)

0 mm outside diameter and 7.5 mm
circular arc of radius 225 mm. The
to increase curvature of the bar is
sile and compressive stresses setup
13)

A curved bar is formed of a
thickness. The centre line of
bending moment of 3 kN
applied. Calculate the maxin
in the bar.

Derive the equation of Sh'ear' centre for channel section. (13)

PARTC—(1x 5 marks)

In an- experimexital determ
diameter mild steel pin ended &

of the buckling load for 1.2 cm
s of various lengths, two of the values

(i) When length = 50 cm the load
(ii) When length =20 cm,

Make the necessary c:
the above values of loads
critical load. Take E = 20

=10 kN, and
30 kN. :
and then state whether either ‘of
s with the Eulers formula for the

A solid circular shaft .is subjee
torque of 20 kN-m. Design the ¢

bending moment of 50 kN-m and a
er of the shaft according to

(i) The maximum principal &
(i) The maximum shear stres
@i1) The ma.}imum distortion

Take u=0.3, stress a
safety = 2.5.

limit = 30QNImm’, factor of

71555




